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fimportant Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Additional Mathem‘atlcs -1

Max Marks: 100

Note: Answer any FIVE full questtons, choosmg ONE full questzon ﬁom each module.

; %g lodule-1

3. Find a unit vector normal to the vectors a =21+ 2_] 12 ari"a b= 6?—3j+ 2k . Also find the

sine of the angle between tt &m

in the foﬁ%wof a+ib.

b. Express b,
1-3i

b. Find the angle between the curves r ;

¥+cos O

N :
c. x Y Jthen show that x
X+y S |
a g smg Maclaurin’s ser}e@@g expand sinx upto the term containing %,

b. . Find the pedal equa on of'the curve 1: cosm@=a"
: a(u v, W)

a(X ¥,2)

Module-3

a. Obtain a reduction formula for [cos®x dx(n>0).

o]

1

b. Evaluate I — dx by taking x = sin 6.

11
c. Evaluate J.“'(x2 +y® +2°)dxdydz.
s 000
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If y=e*" ' thempmve that (1-x )yMZ (2n+1)xyn+1—(n +a )y =0.
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Obtain a reduction formula for I sin” x dx (n> Q s (08 Marks)
0 E
Evaluate J.cos" 0 d6 using reductiorﬁ%rmﬁla. z P | (06 Marks)
0 e W e
12
Evaluate [ [xydydx. (06 Marks)
00

(06 Marks)
(06 Marks)
Find divF and crulF, where = (3x° ~3y2)i+ (Y’ - 3x2)+ Gz —xy)k. (08 Marks)
If F = (3x2y-2)i i+ (x2’ +y ) j=2x°7° k, “ﬁﬁd grad (dlvF) at (ﬂ» (06 Marks)
Find the constam’smh ‘b, ¢ such that the @'ccﬁy T,
F= x+y+ az) - (06 Marks)
Solvég@% yA)dx - xy d (08 Marks)
Solve : (1 + };)dx (talk (06 Marks)
Solve : (x* + y*+ l)dx + 2%y dy 0. (06 Marks)
“Solve : X’y dx - (52@%45 y)y=0. S (08 Marks)
Solve : {y(l + x cos y}dx +(x «31-10g“x xsiny)dy=0. (06 Marks)
%f}’ y ¥
Solve : (x+ 1) —ye®* (x +31) =1, (06 Marks)
s x
% %k %k %k 3k
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